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Attempt any five questions.

Make suitable assumptions wherever necessary.
Figures to the right indicate full marks.

English version is considered to be Authentic.

Define costing. state the advantages & objectives of costing.

A firm produces 1000 pens per day. The material cost is found to be
Rs 1600, the direct labour cost is Rs 2000 and factory on cost
chargeable is Rs 2500. If the selling on cost is 40% of the factory
cost, what must be the price of each pen to realize a profit of 14.6%
of the selling price?

Define depreciation? Explain the method of calculating depreciation
by “sinking fund method”.
An industrialist has employed 50 workers during April’ 98 in his
factory. The detail expenditures are (1) Material cost=Rs 120000 (2)
salary to each worker = Rs 10/ hr (3) Duration of working = 8
hrs/day (4) Nos. of holidays in the months = 5 (5) Overhead
expenses = Rs 60000. The worker are paid 400 hrs of overtime at Rs
20/hrs. Find the total monthly expenses and over head rate based on
man —hour.

OR
Estimate the material cost of welding two flat pieces of the mild
steel 15 cm long x 6 cm wide x 1 cm thick, to form an angle of 90°
by gas welding. The welding is to be done along length side.
Neglect edge preparation cost, and assume (1) cost of O,= Rs
60/100 m®.

(2) Cost of C,H,= Rs 500/100 m®.(3) Cost of filler material=Rs 2/kg.

(4) consumption of 0,=0.7 m*/hr. (5) consumption of C,H,=Rs 0.5
m?*/hr. (6) filler rod dia=5mm. (7) length of filler rod
required=4.5m/m weld (8) density of filler rod=7gm/C.C.

State the element of welding cost and list the item of cost include in
each element.
A round bar of 25mm dia and 500mm length is being converted into
a square bar of 25mm sides by forging. Considering 5% scale loss
only, estimate the length of square bar formed.

OR
A boiler drum 2m long x Im is made out of 15mm thick plate by
arc welding. The drum is closed by welding two circular plates at
two ends. The shell is welded along its length. Welding is done only
from outside. Find the cost of welding from following data.
(1) welding speed 2m/hr (2) electrode consumption =2m/m of weld
(3) cost of electrode = Rs 10/m
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(4) power consumption = 4kwh/m of weld (5) power cost = Rs
1/kwh (6) labour cost Rs 10/hr (7) Overheads = 200% of prime cost
Explain following terms in context of forging.

(1) shear loss (2) tong loss (3) scale loss (4) sprue loss (5) flash loss

Define approach length and over travel with reference to milling
operation.
A M.S bar of 5¢cm dia and 28cm length is to be reduced to 4.375cm
dia by turning in one cut. Taking approach and over run of 0.625cm,
and cutting speed 45m/min, depth of cut 3.15mm and feed
0.037cm/rev, find the time for turning operation.
Explain the areas of cost reduction.

OR
State the importance of cost analysis.
The fixed cost of an industry is Rs 75000, the variable cost of each
product is Rs 700. If the break even number is 750. Find the selling
price of each product. What will be profit if industry produces 1200
products?
Give the procedure of break even chart.

Estimate the time required to cut 6 threads per cm on a M.S bar
20mm dia. for a length of 120mm. take cutting speed of 10m/min. and
assume 6 cuts.
List various types of budgets. Explain any two in detail.

OR
List the documents necessary for contract. explain any two

State and explain in brief the different types of pattern allowances.
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